
CE570−2A_1

wavelength λ /nm
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P60:Σm−R17M3,1(λ)=21,31
xR17M3,1=0,3251
yR17M3,1=0,3314
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wavelength λ /nm
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P55
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P55:Σm−R17M3,1(λ)=21,03
xR17M3,1=0,3324
yR17M3,1=0,3414



CE570−2A_1

wavelength λ /nm
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P50
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P50:Σm−R17M3,1(λ)=20,72
xR17M3,1=0,3415
yR17M3,1=0,3530



CE570−2A_1

wavelength λ /nm
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P45:Σm−R17M3,1(λ)=20,38
xR17M3,1=0,3529
yR17M3,1=0,3663
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wavelength λ /nm
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P40
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P40:Σm−R17M3,1(λ)=20,00
xR17M3,1=0,3674
yR17M3,1=0,3814



CE570−2A_1

wavelength λ /nm
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P35
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P35:Σm−R17M3,1(λ)=19,61
xR17M3,1=0,3862
yR17M3,1=0,3981
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wavelength λ /nm
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P30
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P30:Σm−R17M3,1(λ)=19,23
xR17M3,1=0,4109
yR17M3,1=0,4154
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wavelength λ /nm
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P25
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LMS_R17M3 cone sensitivity y−max(λ)=1
m−R17M3,1(λ)=B21x

−
R17M3,1(λ)+B22y

−
R17M3,1(λ)

+B23z
−

R17M3,1(λ)
B2j −0,5050 1,3333 0,1717λ=540

P25:Σm−R17M3,1(λ)=18,95
xR17M3,1=0,4433
yR17M3,1=0,4309


